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ZAFHE—E(ZTRETE-PIR) -(Eﬂgiﬁ
EE 5 A hEER EE D A RIS
(F 2V IN—FR) (FVIN—FTR)
1 B[] 7,730 21 fast 7,400
2 =F 7,730 N 22 ELIL 7,400
3 ER 7,730 R 23 2 7,280
s 4 e 7,500 24 H0H 7,280
5 LI 7,870 25 e 8,240
6 ERA 7,870 i3 26 R 8,260
7 b} 7,500 27 = 8,360
8 o< & 7,500 28 SH 8,500
9 HIE 7,500 29 fall 8,500
10 A 7,400 R 30 TE8 8,480
ESES 11 Bk H 7,400 31 =i 8,480
12 s 7,400 32 S 8,600
13 HEA 7,300 o 33 EF 8,540
14 A 7,300 34 FiE 8,500
15 EXl 7,500 35 = &0 8,600
16 s 7,500 % RI& 8,400
17 [ 7,500 B IR 8,600
LRE{S 18 = 7,900 37 LR 8,400
19 iR 7,900 Ui 38 REAR 8,400
20 alll 7,900 39 PN 8,400
40 = 8,500
41 BERS 8,400




) ~=z .
ZAFHE—E(ZTRETE - KR) -(Eﬂgiﬁ
EE 5 A KEER EE D A KEER
(F 2V IN—FR) (FVIN—FTR)
1 B[] 12,000 21 fast 11,420
2 =F 12,000 N 22 ELIL 10,800
3 TR 12,000 R 23 S 10,690
s 4 e 11,600 24 H0H 10,690
5 LI 12,250 25 e 11,680
6 ERA 12,250 i3 26 R 11,500
7 b} 11,100 27 = 12,580
8 o< & 11,100 28 SH 14,000
9 HItE 11,100 29 fall 14,000
10 A 11,000 R 30 TE8 14,000
ESES 11 Bk H 11,000 31 =i 14,000
12 e 11,000 32 S 14,720
13 HEA 10,900 - 33 EF 14,560
14 A 10,900 A 34 FiE 14,350
15 EXl 11,100 35 = &0 14,940
16 i 11,780 % RI& 14,300
17 K 11,780 B IR 14,700
LRE{S 18 = 11,900 37 LR 12,100
19 iR 11,900 Ui 38 REAR 12,500
20 alll 11,900 39 PN 14,400
40 = 12,500
41 BERS 14,400




